Graph this transformation of the Parent Quadratic
Function using the five main points.
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Nomhaverthisimuchinow: Another method to find a

y=a(x+2)2-1 Agilemind: Transforming Functions - Exploring
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Pick a point on the graph and SAS3: Question 1
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paliesihenisalxeiiond Agilemind website - Transforming Functions -
_ A e Exploring
- 3 = & (X + Z’) - ‘ e Generalizing Transformations
2 5 e page 1
2= Q& (o +2) = |
7 X ooy - ?mcewlse —(wzc-l—zé»/\
L 1 *
? (Olwl) - l = L( [
=1a (,.-X
vy y/
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2. How does the value of a affect the graph of the general function rule
: = -h) +k?
SAS3: Answer questions 2-4 ek

a>0 graph appears just like the Parent Function

Agilemind website - Transforming Functions - a<0 graph is upside down (x-axis reflection) compared to the Parent Function
e Exploring
e Generalizing Transformations Also:
e pages 1&2

|a|]<1 Vertical Shrink - Graph is shorter than Parent Function

|a|>1 Vertical Stretch - Graph is taller than Parent Function



3. How does the value of h affect the graph of the general function rule
y =af(x - h) + k?

(x - h) means the graph has shifted h units right compared to the Parent Function

(x + h) means the graph has shifted h units left compared to the Parent Function

Agilemind: Transforming Functions - Exploring

SAS3: Answer question 5

Agilemind website - Transforming Functions -

e Exploring
e Generalizing Transformations

e page 3

4. How does the value of k affect the graph of the general function rule
y =af(x- h)+k?

+k graph has shifted k units up compared to the Parent Function

-k graph has shifted k units down compared to the Parent Function

. What values of a, h, and k will transform the graph of
the parent function rule f(x) (the solid red line) so that
it matches the graph of the new function rule
af(x - h) + k (the dashed red line)?

It appears that the original graph
was shifted to the left and down
and underwent a vertical shrink.

a=0.5 1/2 as tall
(x+4) 4 units left 241
k=-10 10 units down




